
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

13% = ________ 41% = ________

12% = ________ 64% = ________

20% = ________ 30% = ________

77% = ________ 48% = ________

73% = ________ 47% = ________

8% = ________ 65% = ________

59% = ________ 68% = ________

96% = ________ 91% = ________

64% = ________ 23% = ________

65% = ________ 43% = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

13% =
100
13

41% =
100
41

12% =
25
3

64% =
25
16

20% =
5
1

30% =
10
3

77% =
100
77

48% =
25
12

73% =
100
73

47% =
100
47

8% =
25
2

65% =
20
13

59% =
100
59

68% =
25
17

96% =
25
24

91% =
100
91

64% =
25
16

23% =
100
23

65% =
20
13

43% =
100
43
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